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QUESTION 1

Which of the following statements about Iv6 address configuration are correct? ()* 

A. IPv6 supports DHCPv6 for address configuration 

B. IPv6 address supports automatic configuration in multiple ways 

C. IPv6 addresses can only be configured manually 

D. IPv6 supports stateless automatic configuration 

Correct Answer: ABD 

 

QUESTION 2

Telnet is a module that implements the Telnet protocol that comes with Python () 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 3

As shown in the figure below. All hosts can communicate normally. Which of the following statements are correct? ()
(Multiple Choice Questions) 

A. G0/0/3 of SWB learned 2 mac addresses 

B. SWA\\'s G0/0/3 learned 1 mac address 

C. SWA\\'s G0/0/3 learned 2 mac addresses 

D. SWA\\'s G0/0/3 learned 3 mac addresses 

Correct Answer: AB 
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QUESTION 4

The controller is the core component of SDN. The controller is connected to the device through the southbound
interface. The following is missing from the controller southbound agreement? () 

A. SNMP 

B. PCEP 

C. OpenFlow 

D. NETCONF 

Correct Answer: AC 

 

QUESTION 5

What is the number range of advanced ACLs? () 

A. 3000-3999 

B. 2000-2999 

C. 40004999 

D. 60006031 

Correct Answer: A 

 

QUESTION 6

After OSPF is configured on the two routers, the administrator configures commands on RTA. Which of the following
descriptions is correct? () 

A. The neighbor relationship between the two routers will be down 

B. RTA. Will no longer send OSPF packets 

C. The neighbor relationship between the two routers will not be affected 

D. RTA. will continue to receive and analyze and process OSPF packets sent by RIB. 

Correct Answer: BCD 

 

QUESTION 7

On Huawei equipment, if AAA authentication is used for authorization, when the remote server does not respond,
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authorization can be performed from the network equipment side () 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 8

In what ways does VRP support router configuration? ()* 

A. Configure the router via FTP 

B. Configure the router through the mni USport 

C. Configure the router through the Console port 

D. Configure the router via Telnet 

Correct Answer: BCD 

 

 

QUESTION 9

The following description of the Router ID of OSPF is incorrect ().* 

A. Router IMust be the IP address of an interface on the router 

B. The prerequisite for the normal operation of the OSPF protocol is that the router has a Router ID 

C. The Router ID must be specified by manual configuration 

D. The Router ID in the same area must be the same, and the Router ID in different areas can be different 

Correct Answer: ABCD 

 

 

QUESTION 10

As shown in the figure below. Which port of the following switches will be blocked? () (Single-choice question) A.
SWA\\'s G0/0/3 
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B. SWC\\'s G0/0/1 

C. G0/0/3 of SWB 

Correct Answer: C 

 

 

QUESTION 11

There is a WeB server in the private network that needs to provide HITP services to public network users. Therefore,
the network administrator needs to configure NAT on the gateway router RTA. 

A. RTA-Gigabitethernet0/0/1 nat server protocol tcp global 192.168.1.1 www inside 202.10.10.18080 

B. (RTA-Serial1/0/1) nat server protocol tcpglobal 192.168.1.1 www inside202.10.1 0.18080 

C. (RTA-Gigabitethernet0/0/1) nat server protocol tcp global 202.10.10.1 www inside 192.168.1.18080 

D. (RTA-Serial1/0/1) nat server protocol top global 202.10.10.1 www inside192.168.1.18080 

Correct Answer: D 

 

QUESTION 12

As shown in the figure below. All switches enable the $P protocol and keep other configurations in their default state.
When the network is stable, are the following statements correct? () (Multiple Choice Questions) 
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A. Both ports of SWC are in Forwarding state 

B. Both ports of SWB are in Forwarding state 

C. SWA is the root bridge in this network 

D. SWB is the root bridge in this network 

Correct Answer: BC 

 

 

QUESTION 13

UDP has a sliding window mechanism to control the speed of data transmission 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 14

Which of the following statements about Prefix Segment is wrong? () 

A. Prefix Segment spreads to other network elements through the IGP protocol, which is globally visible and effective 

B. Prefix Segment needs to be configured manually 

C. Prefix Segment is used to identify a destination address prefix in the network (Prefix) 

D. Prefix Segment can be automatically allocated by IGP 

Correct Answer: D 
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QUESTION 15

The priority of OSPF routing protocol is () 

A. 10 

B. 60 

C. 100 

Correct Answer: B 
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